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Introduction

This pamphlet began its existence more than two decades ago as a study aid developed 
by the Fourth International for its cadre school in Europe. In the 1980s and early 1990s, 
when I led the Marxist economic classes at the Democratic Socialist Party cadre school 
in Sydney, I gave it to students as a handy reference to the material they were studying.

Over time, it became clear that modifications were needed, for various reasons. 
At the most basic level, it was clear that the handbook had been written or translated 
by someone whose native language was not English. While the English was of a high 
standard and nearly always grammatically correct, the wording was sometimes 
unfamiliar and difficult to understand. Added to this, the original handbook was of 
course conditioned by the content of the Fourth International school’s course, which did 
not coincide exactly with the content of the Australian school’s course. Furthermore, the 
students were different: European and Australian militants come to Marxist economics 
with different experiences and different degrees of understanding of particular economic 
concepts, and therefore needed different explanations of different terms.

 In 1998, I compiled some of the most obvious changes and wrote a short introduction 
to an Australian edition of the handbook. That introduction stated: “This handbook is 
not, of course, a substitute for the study of Marxist political economy, but an aid to that 
study. It will perhaps prove most useful as an aid to review.”

That is still the case even in regard to this expanded edition. But I hope that does 
not mean that the handbook is of no use to people who have not yet worked their way 
through Capital. Many of the ideas and terms of Marx’s great work, such as “surplus-
value” and “labour-power”, have entered into the everyday language of the labour 
movement, and a clear definition of them can help bring clarity to discussions of current 
economic events.

This edition has considerably increased the editing and reworking of definitions. 
It differs from the previous edition also in including terms and concepts, such as 
imperialism, used by later Marxists, which did not appear, or appeared only in embryo, 
in Capital. And, because it is also aimed at readers who have not yet studied Capital, this 
edition has expanded many of its explanations.

*    *    *
For the 1998 edition, it was felt necessary to include a few paragraphs explaining 

why the study of Marx’s economics was still relevant. According to the “mainstream” 
thought of the time, all aspects of Marxism had been pushed off the historical stage by 
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the collapse of the “communist” states of Europe and by China’s somewhat slower but 
no less determined path in the direction of capitalism. The same sorts of highly paid 
academics who assured us that we had arrived at “the end of history” were allegedly able 
to manage the smooth functioning of the economy with the tools of capitalist economic 
“science”, making Marxism “irrelevant”.

Only 10 years later, Marx is once again being mentioned in the big commercial media 
in respectful and even fearful tones. History has suddenly reasserted its existence in the 
form of a major economic crisis. It is necessary, however, to take what these media say 
about Marx with a rather large quantity of salt, because their ignorance and class interest 
combine to present a very inaccurate picture. Perhaps the most common fallacy being 
presented at present is the assertion that Marx “predicted” the “collapse” of capitalism 
because of its internal contradictions.

Marx of course made no such prediction, just as he also did not predict that the Soviet 
Union or China would march steadily into the communist future once the working class 
had seized state power. Marx and Engels, the founders of scientific socialism, saw their 
primary function as providing the proletariat with the intellectual tools it needed in 
order to overthrow capitalism. Predicting the course of that struggle in anything but the 
most general sense was no part of their project, because the outcome of the struggle was 
not predetermined. They certainly did not believe that capitalism’s contradictions would 
cause it to disappear of its own accord; had they thought such a thing, they would not 
have spent such a great part of their lives seeking to create the proletarian organisations 
necessary to overthrow capitalism. The owners of the capitalist media that assert the 
contrary have every reason to encourage working people to think that their active 
intervention is not required.

Capitalism’s contradictions guarantee only that it will continue to produce its own 
“gravediggers”—the working people who have the social potential and the motive to 
overthrow capitalism. Marx and Engels did not predict the socialist revolution now 
going on in Venezuela, but they would not have been surprised by it.

Marx and Engels were also well aware that a revolutionary surge may be followed by 
ebb: they studied carefully the lessons of the 1848 revolutions and of the Paris Commune, 
as well as of countless lesser battles. The Commune—the first workers’ government in 
the world—lasted a mere 70 days before it was crushed by capitalist reaction. The second 
workers’ government, established by the October Revolution, lasted more than 70 years. 
The Venezuelan revolution, and the many other revolutions to come, will be the stronger 
for learning from those that have gone before.

We can be certain of more revolutionary outbreaks for the same reason that Marx’s 
political economy is still so relevant. The fundamental “laws of motion” of capital that 
Marx began investigating 160 years ago continue to operate in modern capitalism, 
despite the myriad changes in capitalism’s surface features and the rare more substantive 
developments (the most important of which was the emergence of imperialism). Indeed, 
the student who approaches Capital for the first time is invariably struck by the insights it 
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provides into modern phenomena; this is itself a testimony to how deeply and accurately 
Marx’s analysis penetrated.

As for alternative schools of economics, most do not rise above what Marx dismissively 
characterised as “vulgar economics”. This is the non-science that concerns itself, not with 
the explanation of underlying causes, but with systematising the impressions created in 
the mind of the capitalist by the surface features of the production process. It typically 
begins with eternal and a-social “factors of production”—or, even worse, with isolated 
individuals possessing only “needs”—and never gets beyond debating empirical rules 
for observed rates of wages, profits, interest and rents.

The enduring superficiality of modern non-Marxist economics is most clearly 
demonstrated by its inability to overcome the “micro-macro” divide: for individual and 
aggregate behaviour, this would-be science possesses two quite different sets of analysis 
and explanation, with no way of connecting the two. The reason for this division is that 
the two branches have quite different functions.

Microeconomics’ role is basically ideological. It is intended to meet the desire for 
an explanation of the phenomena of everyday economic life in a way that conceals the 
exploitation of labour and that makes capitalism appear as the normal or natural form 
of social organisation. To do this, it must begin by hiding the fact that human labour 
is the sole source of value. This it does most typically by omitting the concept of value 
altogether and dealing only with prices.

Prices are then necessarily explained by sending the student from pillar to post: 
the price of commodity A is determined by the intersection of its supply curve and 
demand curve. But the prices on the supply curve of commodity A are determined by 
the intersections of the supply and demand curves of commodities B, C and D, which are 
used in the production of A. Similarly with the prices on the supply curves of B, C and 
D, which are determined by the prices of E, F, G etc. The only way to escape an infinite 
regression is to make the argument circular, by having A enter into the production of 
one or more of the commodities in its own production chain: then the result is that the 
price of commodity A is determined by the price of commodity A. The demand curve 
for commodity A raises similar objections: where buyers’ willingness to buy appears 
on the prices graph is determined in the first instance by their income. That in turn is 
determined by the intersection of the supply and demand curves for whatever it is they 
bring to market—whether their own labour-power or some other object—and so the 
regression or circle begins again.

Macroeconomics is not allowed to raise doubts about the ideological mystifications 
of microeconomics, and there are some particular mystifications it seeks to enforce (such 
as the notion that high wages are the cause of inflation). But, unlike microeconomics, it 
has a practical function for capitalists. It is expected to examine the real world in order 
to provide individual capitalists with information that will help them make profits, and 
to provide their governments with information and policies that will benefit capital. This 
branch of the “science” is almost totally empirical, based on statistical observations—
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when interest rates changed by x%, house prices changed by y% and construction profits 
by z%. Computers have been a godsend for macroeconomists because they allow the 
easy manipulation of vast quantities of statistical data, without any need to understand 
the social relationships that create those data.

Macroeconomists make no use of microeconomics because it does not explain 
anything. But in creating their computer models of the economy, the smarter 
macroeconomists are not above borrowing here and there from Marxist economics 
without saying so, to the extent that they understand it. Sometimes they may do this 
without realising it, because approximations of Marx’s economic ideas have, to varying 
degrees, entered into general political discourse or what is sometimes called “common 
knowledge”.

Marx has been declared “outdated” or simply ignored for at least a century by 
economists most of whose names and ideas are now known only to specialists. The 
economic science that Marx founded, like other sciences, has gone through periods of 
both flourishing development and relative stagnation. But pretending to understand 
current economic developments while rejecting Marx’s epochal work is like pretending 
to understand physics while rejecting the work of Newton and Einstein.

Allen Myers
December 2008
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Marxist Economics

A handbook of basic definitions

1. Commodities
A commodity is a product of human labour that satisfies, first of all, a need of a human 

being and which, secondly, is not produced for one’s own individual consumption, but 
rather for the purpose of exchange (selling).

Commodity production is older than capitalism. In the period of decomposition of 
feudal society, simple commodity production formed the basis for the birth of capitalist 
production.

The ingredients of simple commodity production are:
 A social division of labour with independent producers who are specialised in a 

given production;
 Private ownership of the means of production and of the product of labour.
There is a difference with capitalist production: simple commodity production is 

based on the individual labour of those who produce the commodities. But the reliance 
on private ownership leads to the acquisition of wealth by part of the peasants and craft 
producers and to the ruin of others. Simple commodity production (petty commodity 
production) can thus be found at the root of the development of capitalist relations.

In the capitalist system, commodity production is predominant in a generalised form. 
The product of labour, the means of production and labour-power have all become 
commodities. Furthermore, capitalism tends to impose the commodity form on social 
relations that are not commodities in reality.

Since Marx studied capitalism as generalised commodity production, he gave some 
indication about the operation of pre-capitalist societies (where petty commodity 
production exists to a certain degree, for instance) and about post-capitalist societies 
where commodity production has not yet completely withered away.

2. Use-value
The properties which make an object fulfil one or another need of a human being 

make this object into a use-value. Use-value is the material content of wealth, whatever 
social form it may take. However, not everything that has a use-value is a commodity. In 
order for an object to become a commodity, it must be a product of labour designed to 
be sold. Thus in a market economy, it can be said that the use-value is the bearer of the 
exchange value of a commodity.

For example, a cobbler working in the service of a feudal lord will make shoes 
for him. The cobbler may receive a salary. Nonetheless, the cobbler does not produce 
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commodities. The products of his or her labour are not sold on the market. He/she 
produces only a use-value (but no value is produced, and no surplus-value).

In order to be able to be exchanged, a product must have a use-value. However, this 
use-value can be realised only as a result of the exchange of a product.

3. Value
In a market economy, exchange value appears first of all as a quantitative relation in 

which two distinct use-values are compared (a pair of shoes to a sack of potatoes, for 
instance). When the pair of shoes is tested on the market for the purpose of exchange 
against a sack of potatoes, this means that it is worth as much as the sack.

However, the use-values of different commodities cannot be directly submitted to 
a quantitative comparison because they are qualitatively different. The only common 
feature which makes these use-values comparable at the time of exchange is the fact that 
they are all the product of labour. One therefore finds at the root of the equality between 
a pair of shoes and a sack of potatoes, the social labour that was expended in order to 
produce them. Value is thus an indirect measure of the social labour that is necessary to 
produce commodities.

The exchange value of a commodity is the form in which its value is expressed.

4. Concrete labour and abstract labour
A commodity thus displays a dual character: use-value and value. This dual character 

is determined by the dual character of the labour that produces it.
The types of labour are as different from each other as the use-values. Thus each 

use-value represents a specific type of labour. Labour, considered in its specific form 
as farming, cobbling or whatever, is concrete labour. (There is thus a correspondence 
between concrete labour and use-value: cobbling corresponds to shoes, farming to 
potatoes.)

When an exchange occurs, the comparison between the commodities implies that 
the parties to the exchange abstract from the different forms of concrete labour, so that 
the commodities can be considered as equivalents. Therefore the different forms of 
concrete labour possess a common feature. The common denominator for all concrete 
labour is expressed by a small or large expenditure of energy. The labour of those who 
produce the commodity, taken as an expenditure of the labour-power of people in 
general (abstracting from its concrete form) is called abstract labour. Abstract labour 
determines the value of the commodity.

In a society in which the private ownership of the means of production prevails, this 
dual character of labour (being both abstract and concrete) reflects the contradiction 
between the private labour and the social labour of the producers. Private property 
separates individuals (the labour of each producer is their “private business”). The 
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labour of the different producers is not coordinated on the scale of society as a whole. 
However, the social division of labour fosters the creation of multiple links between the 
distinct, separate producers. The greater the division of labour, the greater the diversity 
of activities on the part of the different producers, the greater the interdependence that 
exists between them.

The labour of the “separate”, isolated producer is therefore a social labour. It 
constitutes part of the labour of society as a whole. Due to the isolation of the producer 
(the fragmentation linked to private property), the social character of his or her labour 
remains hidden. It is expressed only at the time of exchange. It is only in the act of 
exchange that the labour of a producer is given or denied the “agreement” of society (the 
market determines whether or not this labour is needed by society).

Abstract labour, which produces the value of the commodity, is a historical category. 
It is the specific form taken by social labour in a market economy. The movement of 
labour from one branch to another shows that abstract labour underlies the concrete 
capitalist reality.

Under feudalism, social labour did not take the form of abstract labour. The feudal 
lord deprived the serfs of the surplus product directly (either in the form of labour rent 
or as rent in kind). The social character of labour was expressed in a concrete form. 
In commodity society (petty commodity production and generalised commodity 
production) products are made for the market (not designed primarily for consumption 
by the producer). The social character of labour is thus expressed in the market through a 
process that occurs outside the knowledge of the producer. The concrete forms of labour 
are regulated through the abstract labour that constitutes the value of the commodity.

5. Simple labour and complex labour
Complex or compound—or skilled—labour is labour whose power is developed above 

the social average by other elements of labour that are incorporated in it. Labour that 
requires specific training is complex labour (compound or skilled labour).

In the same time span, compound labour creates a greater value than simple labour. 
The value of a commodity produced by complex labour includes that part of labour 
which was dedicated to the training of the worker and the improvement of the worker’s 
skills. Complex labour thus acquires the character of multiplied simple labour. In the case 
of commodity production based on the private ownership of the means of production, 
all the different types of complex labour can be expressed as multiples of simple labour. 
The value of a commodity is then determined by the quantity of simple labour that is 
socially required for its production.

In order to calculate the quantity of productive labour that is contained in each 
commodity, the length of labour time required is shown to be the criterion in history 
itself.
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The production performed by workers with various skills involves the intervention 
in the production process of technicians, skilled workers and production engineers. The 
training required in order to acquire the skills represents an expenditure of energy both 
for the learner and for the teacher. If this expenditure is not immediately productive, it 
is worked into productive labour in one form or another when the productive labour is 
performed. We thus arrive at the following notions:

Simple labour: Marx defines this as “the expenditure of the simple power with which 
everyone is generally endowed without undertaking any special development of their 
physical organism” (the job rotation of unskilled workers gives us a concrete idea of this 
“expenditure of the simple power of everyone”).

Complex or compound labour: Labour in which elements of previously performed 
labour can be found and which has developed its power above the social average. This in 
the last analysis is nothing more than the multiple of simple labour.

6. Socially necessary labour
If the value of a commodity is determined by the quantity of labour required for its 

production, an objection can be made. Does a clumsy worker who needs twice the time 
required by an able worker to produce the same object, actually produce more value? In 
order to reply to this objection, it is necessary to bring in the notion of socially required 
labour.

For example, in a society of petty commodity production, when a clumsy worker 
comes on the market in order to sell (exchange) his or her product, he/she cannot expect 
to sell it at a higher price than the product made by the able worker.

An equilibrium is thus reached in fact between the values of the various commodities. 
This equilibrium is determined by the average, normal conditions of labour as performed 
by the producers of these commodities.

Hence the value is not determined by the individual labour performed, but by a social 
average, which Marx calls socially necessary labour. (The socially necessary labour time 
varies according to the productivity of labour, which in turn is expressed in the quantity 
of products created in a given labour time.)

A clumsy or lazy producer working below the average productivity of labour wastes 
labour time. This wasted labour time will not be recognised as socially necessary by the 
market and therefore will not be refunded (the same is true for a factory that operates 
below the average conditions of productivity).
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7. Exchange—the form of value—general equivalent—money—the 
law of value

The value of the commodities created by labour in the production process can express 
itself only in the comparison with another commodity, through the process of exchange. 
Value thus appears in the form of exchange value.

Let us suppose that a commodity A and a commodity B have been produced. A is 
exchanged for B. What does this mean?

If A is worth the same as B, this means that B discovers the value of A and A discovers 
its own value in B; B thus appears as the equivalent in value of A.

If we multiply the number of commodities compared to B, B will be perceived as a 
general equivalent, as the means used to express the value of other commodities. The 
general form assumed by value is characterised by the fact that all commodities begin to 
be exchanged for a single commodity, which plays the role of a general equivalent.

In becoming a general equivalent, B has transformed itself into money. This money is 
a mirror of all the other commodities from the point of view of value. The specific value 
of money can be expressed only in the form of the labour socially necessary for its own 
production (i.e., precious metals).

It is logical, then, that a state of generalised exchange (generalised commodity 
production) was required before Marx could unearth the categories of commodity 
economy. The work of elaboration performed by Marx in the second half of the 19th 
century is therefore not a chance occurrence.

Money possesses three main functions:
 A measure of value: The value of the commodity is expressed only indirectly, by 

assimilation of the commodity to money in the exchange process.
 Means of circulation: The exchange of commodities performed by means of money 

is called commodity circulation.
 Store of value: Unlike ordinary commodities, money always retains its value—

though that value may change with changing conditions of gold production. (Paper 
money, not being a product of human labour, can not adequately perform this function 
of gold money.) As a store of value, money performs several important subsidiary 
functions:

a. Hoarding: when money is withdrawn from circulation and accumulated. In pre-
capitalist society, this is usually done to ensure future consumption. In capitalism, it is 
normally done by capitalists for the purpose of purchasing means of production.

b. Means of payment: when a purchase is made on credit (deferred payment), or in 
payment of taxes or land rent.

c. Universal means of payment: (universal currency) in the exchange between 
countries.

Money, in so far as it is a means of appropriation of the labour of others in the 
framework of a class society, possesses a class nature. (This refers us to the class nature 
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and not the technical nature of debates concerning the monetary policy of a given 
country.)

Society requires an equilibrium of production and needs, taking into account the 
availability of reserves (stocks). The law of value is an objective mechanism through 
which—in the framework of a market economy—recognised social needs (those that 
can be expressed through purchasing power) and socially necessary labour are made 
to correspond, even though the social labour is performed in a private fashion and the 
private producer is not aware of the specific needs (quantitative and qualitative) which 
his or her production must satisfy. 

The law of value regulates not only the exchange of commodities but also—through 
the price mechanism—the redistribution of social labour and the means of production 
between the different branches of the economy.

Under the impact of the fluctuations that occur in the relation between supply and 
demand, the prices of commodities are at variance with their value, which is itself subject 
to the fluctuations of labour productivity. These discrepancies provide the means for the 
law of value to come into play. The fluctuations on the market enable the producer (who 
has no prior knowledge of the conditions) to determine which products are in excess 
and which products are scarce according to solvent demand. It is only then that the 
changes in output take place.

8. General formula of capital
One should not confuse capital and capitalism. Capitalism is the introduction of 

capital into the productive process. Capital began its career in the form of a given amount 
of money (usury capital, commercial capital etc.) within the confines of feudal society.

The shift from manufacture to large, mechanised industry caused the capitalist mode 
of production to prevail. Capitalist property in the means of production forms the basis 
for the relations of production in bourgeois society. According to Marx, “the capitalist 
mode of production …consists in the fact that the material conditions of production are 
attributed to the non-workers in the form of capitalist property and land while the mass 
owns nothing save its personal conditions of production: labour-power” (Critique of the 
Gotha Program).

If all capital begins its career in the form of money, money in itself is not capital. The 
exchange of commodities gave birth to money. We will see that money in turn gives birth 
to capital.
 Money is not capital: When two small producers exchange commodities, money 

comes into play as a means of circulation, but not as capital. Here we are faced with the 
formula for commodity circulation:

C (Commodity)—M (Money)—C (Commodity)
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 However, money becomes capital when it is used with the aim of exploiting the 
labour of others. Thus the formula for capital is M-C-M. In other words, purchase for 
resale, with the accumulation of value as the objective.

C-M-C represents the exchange of a use-value for another use-value (a producer 
sells a commodity which he/she does not need in order to acquire one for his/her 
own consumption). The use-value is thus the purpose of this circulation (purpose = 
qualitative difference in use-values).

M-C-M: the point of departure and the point of arrival of the movement coincide 
qualitatively (the capitalist has money at the beginning and money is what he or she 
recovers at the end). The movement would make no sense if there were no quantitative 
change involved (more money at the end than at the beginning). Thus the purpose of 
the circulation in this case is an increase in value; hence the general formula can be 
expressed in the following manner: M-C-M’ (M’ denotes an increase in the amount 
recovered).

9. Surplus-value and exchange
Many bourgeois economists assert that the surplus is the result of the circulation of 

commodities.
Some perceive the exchange as an act in which both parties make a profit. For 

example, one sells galoshes which he/she does not need in exchange for a chair which 
he/she needs; another is only too happy to receive galoshes in exchange for a chair. This 
way of tackling the problem of exchange is based on the confusion between use-value 
and value. From the point of view of use-value, there may be a gain, but no increase in 
value takes place in the exchange (if one exchanger increases the value in hand, the other 
must lose an identical amount).

“The attempts to represent the circulation of commodities as a source of surplus-
value mask a quid-pro-quo, a confusion between the use-value and the exchange value” 
(Capital, Vol. 1).

If we assume that a commodity which was purchased for $100 is sold for $110, then a 
surplus-value of $10 will have been made. However, when the seller in turn becomes the 
purchaser (for instance at the time of stock renewal) what was previously gained will be 
lost if the subsequent seller also has the “privilege” of selling at 10% above value.

In order for the sellers to retain permanently their ability to sell above the value, 
it would be necessary to imagine a class composed exclusively of sellers dealing with 
another class composed exclusively of buyers. But in that case, where would the money 
come from to enable the buyers to perform their function? We would then need to 
assume that the sellers give money to the buyers so that they may purchase the products 
put on sale. But then the profit made in the sale would be lost.
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If we examine society as a whole, it is clear that the losses of the buyers and those of 
the sellers will ultimately balance out. Therefore, if commodities are not exchanged at 
their value, this may alter the distribution of value but not its mass.

Hence we can make the following proposition: The owner of money who becomes 
a capitalist must find on the market a commodity whose consumption will create value 
that is superior to its own value. The owner of money must therefore find a commodity 
whose use-value will itself possess the ability to produce value. This commodity is called 
labour-power.

10. Labour-power and its value
Labour-power is best described as the combined faculties which an individual can 

put to work when he or she produces a good. Whatever the form of society, it is an 
indispensable element of production.

But in capitalist society, labour-power becomes a commodity. We can say that 
capitalism is commodity production taken to its ultimate conclusion, in a situation 
where labour-power itself becomes a commodity. This means that capitalist production 
is based on wage labour (compulsory sale of labour-power) and that the act of hiring a 
worker is nothing other than a buying and selling of a commodity called labour-power: 
the workers sell their labour-power and the capitalist purchases it.

By hiring a worker, the capitalist gains control over labour-power to be used in the 
productive process where the increase in capital occurs.

Labour power, like any other commodity, is sold at a given price—hence the question 
of the value of this commodity is posed.

In order to preserve the ability to work, the worker must satisfy his or her vital 
needs. This implies that individuals reconstitute their ability to work. This reconstitution 
is necessary not only for the worker, but given the need of the capitalists to secure a 
permanent supply of labour-power, it also implies the care of the family (reproduction of 
the labour-power) along with the expenditures required for the acquisition of skills by 
the children etc. The value of the commodity labour-power is equal to the value of the 
means of subsistence required, in a given social and historical context, to provide for the 
workers and their families.

The capitalist who initiates a business will purchase what is required for production—
buildings, machines, equipment, raw materials, fuel—and hire labour. The process of 
production then begins. When the commodity is ready, it is sold by the capitalist.

The value of the commodity produced contains the value of the expended means 
of production (processed raw materials, fuel, and depreciation of the buildings and 
machines) as well as the newly created value which is the result of the labour of the 
workers of the factory.
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11. Newly created value
Capitalism presupposes a relatively high level of labour productivity (i.e., the Industrial 

Revolution). This is required so that workers need only part of their labour to create a 
value equal to that of their labour-power.

If one hour of simple average labour creates a value equal to $10, and if the daily 
value of labour-power is equal to $60, the workers must work for six hours in order to 
compensate the capitalist for paying the daily value of their labour-power.

But the capitalist controls the labour-power of the worker for, say, twelve hours, not 
six. During these 12 hours, the worker creates a value equal to that produced in 12 hours, 
$120, whereas the worker’s labour-power is worth only $60.

Thus we see that the specific use-value of the labour-power for the purchaser, the 
capitalist, is that it is able to produce value greater than that which it possesses in itself.

12. The production of surplus-value
The necessary precondition for capitalist exploitation is that the value of labour-

power and the value created during the process of its consumption (when it is under 
the control of the capitalist) are of a different size. This precondition expresses in 
terms of commodity production, of value, the general precondition for any society of 
exploitation: that the producers must be able to produce more than is required for their 
own survival.

If we go back to the previous example, we can see that the capitalist recovers the 
capital he or she put forward to buy labour-power ($60) with an increase or an excess of 
$60 (the value created by the worker amounting to $120).

Surplus value is thus the difference between the value of labour-power and the value 
created by the worker during the time his/her labour-power has been employed. Surplus 
value is therefore the fruit of the unpaid labour of the worker.

On this basis, we can divide the day’s work in the factory into two parts: the necessary 
labour time and the surplus labour time. Necessary labour time is the time during which 
the workers reproduce the value of their labour-power; surplus labour time is the time 
during which they create the surplus-value.

We can thus characterise the labour of the worker as a process of consumption by the 
capitalist of the commodity labour-power, during which the capitalist extracts surplus-
value from the worker.

The two fundamental characteristics of labour in the capitalist system are:
 The worker works under the control of the capitalist, to whom belongs the labour 

of the worker.
 The capitalist owns not only the labour of the workers, but also the product of their 

labour.
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The immediate purpose of capitalist production is the production of surplus-value; 
therefore, the only productive labour in capitalist society is that which produces surplus-
value.

The difference from feudal and slave societies is that in capitalist society exploitation 
takes on a disguise. The extraction of the surplus-value, the unpaid labour time, is not 
immediately perceptible, cannot be grasped outright. It appears as a normal customary 
exchange between two owners of commodities; this appearance is the basis of the illusion 
of the labour contract being drawn up between two “partners of equal standing”.

Lastly, the production of surplus-value, as a fundamental economic law of the 
capitalist system, is expressed in:
 The growing production of surplus-value;
 The appropriation of surplus-value by the capitalists on the basis of the private 

ownership of the means of production, together with the intensification of production 
and its expanding scale. Marx stated: “To produce surplus-value, such is the absolute law 
of this mode of production” (Capital, Vol. 3).

Capital did not “invent” surplus labour. Surplus labour existed in the feudal mode of 
production as well as in slave society. But, unlike the feudal lords, who used the major 
part of the products of the surplus labour performed by the serfs to satisfy their personal 
needs and whims, capitalists, besides personal consumption, dedicate a large proportion 
of their money (surplus labour converted into money) to build up additional capital 
destined to produce new surplus-value. This is why Marx asserted that capital was 
hungry for surplus labour. It should be understood that this race for surplus-value was 
the revolutionary element in the capitalist mode of production and that it determined 
the whole development of the productive forces (i.e., the revolutionary aspect of the 
emerging bourgeoisie—see the Communist Manifesto).

The relation between necessary labour time and surplus labour time expresses the 
rate of exploitation, or the rate of surplus-value. It can be formulated as follows: the 
relation between the surplus-value produced by variable capital and the variable capital 
itself.

13. Capital as a social relation
The bourgeois economist defines capital as any instrument of work, any means of 

production, like the polished stone of the early human beings, or even a stick used 
by a monkey to extract termites from their nest. The purpose of this is to mask the 
exploitation, and to present capital as an eternal and unavoidable condition of society.

The means of production did not become capital until a certain stage of historical 
development was reached, when the means of production are under private ownership 
and are used as a means of exploitation of wage labour. It is from that moment that we 
can say that capital is not a thing, but a social relation.
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Capital is a value which, through the exploitation of wage earners, creates a surplus-
value. Marx said: “Capital is dead labour which, in the same fashion as the vampire, can 
come to life only by sucking live labour, and its life is all the more animated when its 
supply is increased.” (Capital, Vol. 1).

Capital embodies a relation of production between the class of capitalists and the 
class of workers, the essence of which is that the capitalists, as owners of the means 
of production, exploit the wage earners, who create a surplus that the capitalists 
appropriate.

14. Constant capital and variable capital
The different components of capital play different roles in the production of surplus-

value. The capitalist spends a certain portion of his or her capital on the purchase 
of machines, buildings, raw materials, energy, tooling etc. The value of this part of 
capital is transferred to the newly produced commodity as its use-value is consumed 
in production: immediately in the case of raw materials and gradually for machines 
and buildings. We call this part of capital constant capital. Its value remains the same 
throughout the productive process, being worked into the value of the commodities 
that are finally produced by the action of the labour-power. Fixed capital is that part of 
constant capital which is used in the purchase of buildings and equipment and whose 
value is therefore recovered by the capitalist only gradually, through the sale of many 
commodities; circulating constant capital is the raw materials or semi-finished products 
whose entire value is transferred to a commodity and recovered by the capitalist as soon 
as that commodity is sold.

The capitalist also dedicates a part of his or her capital to the purchase of labour-
power, to the hiring of workers. This part of capital is called variable capital because 
its value increases by the surplus-value extracted from labour-power by the owner of 
capital. In exchange for this part of capital spent, the owner of the means of production 
receives a new value created by the workers. This new value is greater than the value of 
the labour-power purchased by the capitalist.

Constant capital is usually referred to as c and variable capital as v.
The exploitation of wage earners by the capitalists is the source of the surplus-value.

15. Absolute surplus-value—relative surplus-value—extra surplus-
value

The rate of surplus-value (the ratio of surplus-value to variable capital) shows the 
proportion in which labour performed by the workers is divided into necessary labour 
and surplus labour. Or, formulated differently, it shows which part of the day’s labour 
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is performed by workers in order to replace the value of their labour-power, and which 
part is performed free, for the capitalist.

The rate of surplus-value is formulated as follows:

s’ = s/v = ($60/$60) = 100%

The labour of the worker is divided into two parts. One is the necessary labour and 
the other is surplus labour.

The mass of surplus-value, through the development of capitalism (in the 18th, 19th 
and 20th centuries), increased proportionately to the increase in the number of wage 
workers exploited by capital. There are two means of increasing the exploitation of labour 
by capital, or of increasing the surplus labour which is extorted from the worker.

The first means consists of lengthening the working day. The necessary labour time 
remains stable and the time when surplus labour is performed increases.

For example, previously we had the following subdivision of the working day:
 a 12-hour day;
 necessary labour time: 6 hours;
 surplus labour time: 6 hours.
If the working day is lengthened by 2 hours, we have the following division:
 a 14-hour day;
 6 hours necessary labour;
 8 hours surplus labour.
The surplus-value produced through an increase in the length of the working day is 

called absolute surplus-value.
The second means of increasing exploitation is to reduce the necessary labour time. 

This increases the surplus-value extracted without increasing the length of the working 
day.

A shortening of the labour time necessary for the workers to reproduce the equivalent 
of their wages is directly linked to increases in labour productivity in agriculture and 
other branches that produce consumer goods for the workers. Increased productivity 
in these branches means a lowering of the value of the commodities required for the 
reproduction of labour-power.

If the average goods required for the reproduction of workers become cheaper by 
one-third, then our previous example becomes the following:
 a 12-hour day;
 4 hours necessary labour;
 8 hours surplus labour.
Surplus-value produced by reducing the necessary labour time is called relative 

surplus-value.
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These two means both increase the exploitation of labour by capital, but their relative 
importance varies in different phases of the historical development of capitalism. When 
technical progress (development of the productive forces) is slow, absolute surplus-value 
plays a more important role. When labour productivity (growth of the productive forces) 
increases faster, then increased exploitation of the workers is achieved by the increase in 
relative surplus-value.

Intensification of the labour of the workers is just as important for a capitalist as 
the lengthening of the working day and is another form of absolute surplus-value. A 
lengthening of the working day from 10 to 11 hours or an increase in the intensity of 
labour by 1/10 produces the same result for the capitalist.

When a capitalist enterprise introduces improved machinery and methods of 
production, that places it above the average of the branch of industry as a whole; it 
achieves a greater productivity than in the industry as a whole. Hence the individual 
value of each commodity produced in this factory declines below its social value. 
However, the price is determined by the social value, which means that the capitalist 
achieves a rate of surplus-value that is greater than the average.

The extra surplus-value is the excess that the capitalists receive beyond the ordinary 
rate by lowering the unit value of the commodities produced in their factories.

The workers of this factory need less time—because of the improved productivity—
to produce the commodities that pay for the value of their own labour-power. The 
necessary labour time is thus shortened and the surplus labour time lengthened. This 
is a temporary phenomenon because the other factories in the same industrial branch 
sooner or later introduce the same advanced processes. The generalisation of technical 
progress in any given branch decreases the time socially required for the production of 
a commodity, thus causing its value to decline. In the end, the advanced capitalist no 
longer rakes in extra surplus-value. However, if the branch produces a commodity that is 
important in workers’ consumption, then this will tend to increase relative surplus-value 
for all capitalists.

16. Wages
It is necessary to distinguish between three elements when discussing wages:
 The value of labour-power, which is determined by the value of the commodities 

required for the reproduction of labour-power. This evolves under the constraint of two 
contradictory tendencies. One is linked to the increase in the productivity of labour, 
which lowers the value of the commodities required for the reproduction of labour-
power and thus lowers the value of labour-power without lowering the real wage. The 
other is the tendency of workers, through their organisations (trade unions, parties etc.), 
to fight for the inclusion of social needs in the value of labour-power and therefore to 
increase its value.
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 The price of labour-power, which fluctuates around its value according to the 
relations between the supply of and demand for labour-power. In periods of expansion, 
the demand for labour-power exceeds the supply, so its price tends to be above its value. 
Conversely, in times of stagnation or recession, the price of labour-power tends to fall 
below its value.
 The real wage, which is the mass of goods that can be purchased with workers’ 

wages.
Our example explaining surplus-value assumed that capitalists pay a daily wage that 

allows workers to survive and reproduce, and that workers and capitalists then struggle 
in various ways over how much additional value workers will create for the capitalists. 
However, in the course of this struggle historically, the capitalists found it to their 
advantage to replace a daily wage with an hourly wage. Hourly wages made it possible 
to employ workers for only part of a day when that was convenient for the capitalist 
(because of problems with supplies, or machinery break-downs or unfavourable 
economic conditions). Marx also pointed out that hourly wages tended to reduce 
workers’ resistance to the lengthening of the work day: initially, workers would receive 
a greater total wage, more than the value of labour-power, but once the longer working 
day was established, hourly wages could be gradually wound back until workers received 
no more than they had before for what was now a longer day.

Piece wages, viewed abstractly, are only a variant of hourly wages. The length of the 
working day, instead of being measured by the clock, is measured by the number of 
items produced. (For example, the normal worker can produce 12 items in an hour; a 
worker who produces 120 items is therefore considered to have worked 10 hours.) But 
piece wages have many concrete advantages for the capitalist. They tend to make workers 
competitors against each other instead of allies against the boss. They make it easier 
for the capitalist gradually to increase the intensity of labour: the slowest piece-workers 
are sacked; then the piece rate is reduced, which causes the remaining workers to exert 
greater efforts; then the next slowest workers are sacked and so on. Ideologically, piece 
rates help the capitalists to conceal exploitation: because the more workers produce, the 
more they are paid, it is easier to believe that they are being paid the value of what they 
contribute to the product, when really they receive only a fraction of that value.

17. Production and reproduction
In order to live and develop, society must produce material goods and services. It 

cannot stop their production because their consumption is indispensable. Whatever the 
structure of the social relations, production must be constantly renewed. This permanent 
renewal, the uninterrupted repetition of the productive process, is called reproduction.

“Considered, not in the isolated aspect, but in the process of its ceaseless renewal, 
any process of social production is thus—at the same time—a process of reproduction” 
(Capital, Vol. 2).
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The conditions of production are those of reproduction. If production is capitalist, 
reproduction will assume the same form. The process of reproduction thus consists of:
 the fact that society produces ever more quantities of products to replace (and 

more) the products consumed;
 the fact that in society the corresponding relations of production are constantly 

being renewed. 
Political economy has traditionally divided the analysis of reproduction into simple 

reproduction and expanded reproduction.
Simple reproduction is the repetition of the productive process in its previous scale 

(the newly produced goods simply compensate for the consumption of means of 
production and individual consumer items).

Expanded reproduction is the productive process repeated on an expanded scale 
(society does not limit itself to the replacement of the material goods consumed but 
produces additional means of production and consumer goods beyond the scope of the 
simple replacement).

There is a third possible type of reproduction, contracted reproduction: the resumption 
of production on a smaller scale than in the previous cycle. This is not often discussed 
in economic literature because it can occur only as an aspect of economic or other 
crisis, and economic writing is usually concerned with understanding how it might 
be possible to avoid crises. But if a country’s GDP declines from one year to the next 
during the downturn of the economic cycle, then its economy is experiencing contracted 
reproduction. On a longer term basis, the Marxist economist Ernest Mandel calculated 
that World War II, by 1945, had pushed all of the major combatants other than the 
United States into an economy of contracted reproduction.

18. Simple capitalist reproduction
In the case of simple capitalist reproduction, the productive process is renewed 

without alteration in volume: all surplus-value is therefore used by the capitalists for their 
own consumption; none of it is re-invested. An actual situation of simple reproduction 
is in fact contrary to the nature of capital, which constantly seeks to exploit more labour 
and therefore to reinvest surplus-value. It therefore occurs, episodically, only in periods 
of crisis. Marx nevertheless devoted considerable effort to its analysis because, as he 
wrote, it is the foundation upon which expanded reproduction occurs.

Let us examine some of the features of the capitalist system through the prism of 
simple reproduction.
 In the process of reproduction, both the products of labour and the capitalist 

relations of exploitation are renewed.
On the one hand, wealth is constantly being created in the course of production. This 

wealth belongs to the capitalist, who makes use of it to appropriate surplus-value. At the 
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end of each process, the capitalists are again in possession of a capital, which enables 
them to acquire wealth through the exploitation of the workers.

On the other hand, at the end of the productive process, the worker remains a 
proletarian, a non-owner compelled to sell his or her labour-power once again and ever 
again to the capitalist.

The reproduction of wage-based labour-power is the necessary condition for the 
reproduction of capital.
 An objection is sometimes made on the basis of the study of an isolated productive 

process. In such a case, it appears that the capitalists, in order to purchase labour-power, 
draw on their own funds for the money required to give the worker an advance (on 
an anticipated earning). This is the theory of the wages fund. This theory is apparently 
motivated by the following fact: at the time of the payment of the wages, the capitalist 
cannot have had time to realise the commodity produced by the worker.

In order to shed some light on the nature of this transaction, it is necessary to avoid 
considering it as an isolated occurrence, and instead to analyse it as an element of 
reproduction, a relation that is endlessly repeated.

While the workers create through their labour, in a given period of time, a new value 
that contains surplus-value, the product manufactured by the workers in the previous 
period is being tested on the market, realised and converted into money. Therefore, 
capitalists do not pay the wages out of their own pocket, but out of the value created by 
the labour of the workers during the previous period of production.

Furthermore, contrary to the usual commodity, labour-power is paid for by the 
capitalist only after the labour is consumed. Thus the capitalist does not give an advance 
to the proletarian, but rather the proletarian gives an advance to the capitalist.
 The capitalist constantly transfers money to the workers (in the form of wages) in 

order to enable them to purchase their means of subsistence (that is to say, a part of the 
products created by the labour of the workers, which the capitalists have appropriated). 
The workers return this money to the capitalists in the act of purchasing their means of 
subsistence—produced by the exploited class.
 The analysis of capitalist relations in the course of reproduction brings to light both 

the true source of wages and the source of all capital. Both are the product of the labour 
of the working class.

Whatever the initial source of capital may be (i.e., its historical formation through 
theft and pillage) it becomes—in the process of simple reproduction, after a given 
amount of time—value created by the labour of the workers and appropriated by the 
capitalists at no cost to themselves.

The realisation of the social product (the mass of goods produced in society in a given 
period) requires certain conditions in the framework of simple capitalist reproduction, 
in which the surplus-value is destined to be consumed by the capitalist.

These conditions are the following:
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 The total mass of the commodities produced in Department I (which produces 
means of production) must be equal in value to the mass of the means of production 
consumed in the space of a given time by all producers.
 The total mass of commodities produced in a given time in Department II (which 

produces consumer goods) must be equal in value to the total of the incomes of the 
workers and the capitalists in both sectors.

This correspondence is far from being guaranteed. Not every production necessarily 
finds a buyer; conversely, a demand for some product may not be met for a shorter 
or longer period. Such discrepancies are inevitable when production is carried out by 
private individuals who are coordinated only by the market. Hence the possibility of a 
crisis is inherent in capitalist production.

19. Expanded capitalist reproduction—capital accumulation
In expanded reproduction, one part of the surplus-value is channelled by the 

capitalist toward an increase of production through the purchase of additional means of 
production and/or the hiring of extra workers. This means that part of the surplus-value 
is added to the previous capital; it is accumulated.

The accumulation of capital is the addition of part of the surplus-value to capital or 
its conversion into capital. Surplus-value is thus the source of capital accumulation. It 
is therefore through the exploitation of the working class that capital grows and that, at 
the same time, capitalist relations of production are reproduced on an expanded scale 
(increase of the mass of wage earners).

Under capitalism, production develops only if capital increases, if it accumulates. This 
means that more raw material, more machines and more labour-power can translate 
only into more capital (additional capital in the form of constant and variable capital). 
Thus a systematic pressure is exerted to secure an accumulation of capital (law of capital 
accumulation).

As Marx stated, capital can exist only if more capital is accumulated. This expression is 
verified in concrete reality through competition. Capital occurs in the form of individual 
capitals competing with one another, since we are in the framework of a society where 
private property prevails.

Capitalist production is market-oriented production. In order to win in this 
competition, every capitalist company is compelled to lower its production costs. In 
order to achieve this, large-scale production is required, as are the use of more modern 
machinery and means of production (rationalisation). All of this requires more capital. 
Hence the pressure towards an increase in capital accumulation. Since surplus-value is 
the sole source of capital, the growing pressure toward capital accumulation implies that 
a pressure is exerted for the ceaseless increase of the mass of surplus-value.
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20. The organic composition of capital, the concentration and 
centralisation of capital

In the process of capital accumulation, the general mass of capital increases, and its 
different components undergo uneven alterations. There occurs a change in the structure 
of capital.

Technical improvement is linked to capital accumulation. The introduction of every 
new technique implies that a new physical relation is established between a given mass of 
raw materials, a set of machines and a certain number of workers. Marx called the relation 
between the physical components of constant capital and the physical components of 
variable capital (the workers) the technical composition of capital. 

Both the physical components of constant capital and the physical components of 
variable capital have a value. The relationship between these two values is what Marx 
called the value composition of capital. Put another way, this is the relationship between 
all the constant capital and all the variable capital involved in production.

Marx introduced another term to describe the relationship between the value of the 
constant capital and the value of the variable capital. This is the organic composition of 
capital.

At any particular moment, the value composition of capital and the organic 
composition of capital in a company, industry or economy can be represented by 
a number, which is the same for both. Marx nevertheless distinguished between the 
two compositions of capital because capitalism exists in time and therefore changes; 
particular moments therefore don’t tell you very much. The value composition of any 
capital changes all the time because of accidental factors: a shortage or oversupply of raw 
materials or machines, a temporary fluctuation in wages. Marx realised that such changes 
were not fundamental processes in a capitalist economy; what mattered were changes in 
the value composition caused by changes in the technical composition of capital. By 
“organic composition of capital”, Marx meant the value composition as determined by 
the technical composition of capital.

In the course of normal capitalist production, the organic composition of capital tends 
to increase. This statement is the same as saying that the value composition of capital 
tends to increase because of a changing relationship between the physical means of 
production and the labour force.

The growth of the organic composition of capital can be measured empirically at the 
level of an industrial branch through the fact that the wages appear there as a declining 
part of the total production cost over the long term. This is a key argument against 
those who assert that technical progress does not imply a modification of the value 
relation between variable capital and constant capital. This would imply that there is no 
growth in the organic composition of capital (with its inherent consequences in terms 
of the decline of the rate of profit). Besides, we can ask a question of those who deny 
the existence of this tendency. How do they explain the prevailing pressure in all the 
industrial branches toward semi- or full automation?
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In the course of capitalist reproduction, there occurs both the centralisation and the 
concentration of capital. The fusion of different capitals under a single decision-making 
body, hence the fusion of several capitals into a single, more powerful one, is called 
centralisation.

We call concentration the increase in value of capital as a result of accumulation 
(accumulation of surplus-value) and of competition (elimination of the smaller, weaker 
firms).

The concentration and the centralisation of capital gather a tremendous amount of 
wealth into the hands of a restricted number of persons. Capital growth opens broad 
perspectives of capital centralisation. The large companies develop a tremendous 
competitive edge over the smaller ones, in terms of productivity, scale savings and 
market penetration.

The concentration and centralisation of capital imply that private property tends to 
polarise society socially and politically between those who own (“the minority of owners 
who command labour and machines”) and those who do not.

The concentration and centralisation of capital thus imply the concentration of 
economic power, with all of the social and political consequences this has.

21. Industrial reserve army
Marx indicated in Capital (Vol. 1, Chapter 23) that if the organic composition of 

capital remains unchanged, the progress of capital accumulation favours the workers once 
a certain level is reached because full employment tends to occur (with its concurrent 
effect on the price of labour-power).

However, the development of capitalist production implies (see capital accumulation 
and organic composition) that there is a permanent alteration of the organic composition 
of capital.

Capitalist development, or capitalist expansion, is the substitution of dead labour 
for living labour (workers are replaced by machines). On the basis of this general 
phenomenon, Marx explained the industrial reserve army, in other words, the constant 
creation—through the process of capital accumulation—of a mass of jobless producers. 
This mass cannot but exert a downward pressure on wages.

Marx’s explanation in Volume 1 of Capital refers to the operation of capital in general, 
in other words to the inherent tendencies of capitalism that are modified in real life by 
the concrete conditions of capitalist expansion, competition etc. The realisation of the 
law of the industrial reserve army depends fundamentally on two factors:
 the relation between the rhythm of expansion of industry and the rhythm of growth 

of the proletarianised layers;
 the relation between intermittent unemployment, long-term unemployment and 

the masses of workers holding a job.
We can observe fluctuations at two levels that are different for these two factors.

26 Marxist Economic Definitions



The first is in the long-term rhythm of proletarianisation of the population, related to 
the rhythm of industrial expansion.

The second, in the short term, is the fluctuation in the framework of an economic 
cycle: in the case of a crisis of overproduction, the number of workers seeking a job is 
much greater than the number of available positions; in a period of boom, the demand for 
workers tends to overtake the number of job seekers (particularly in certain categories); 
hence the upward pressure on wages.

Marx’s analysis of the industrial reserve army has considerable relevance for present-
day discussions of “overpopulation”. Because it is an inherent tendency of capitalism 
to replace workers with machines, the normal operations of capitalist economy are 
constantly creating a “surplus population”—which only means people that at present are 
not producing surplus-value for capitalists. We can only guess at how many people could 
be supported in a rational world, because we have never had one. But it is a certainty 
that there will always be “overpopulation”, whatever the actual number of human beings, 
while capitalism remains the dominant social system.

22. Relative pauperisation
The existence of unemployment makes it easier for the bosses to exert a downward 

pressure on (real) wages. But this tendency comes into conflict with another. 
Technological growth and technical progress develop a series of new needs among the 
workers, while there is, in turn, an increase in the number of commodities whose price 
is included as part of the average wage (the socially vital minimum). The existence of 
trade unions and the resistance of workers stimulate the upward trend in the number 
of commodities included in the average wage. It is therefore the interaction of these two 
contradictory forces which determines the general level of wages (thus we can see how 
wages are closely linked to capital accumulation).

Relative pauperisation means that the workers may well benefit from the ongoing 
productivity increases which are characteristic of capitalist industry, but in a far smaller 
measure than the capitalists.

23. Fundamental contradiction of the capitalist mode of 
production

Capitalism, in the course of its development, tightly binds the labour of an ever 
growing number of workers. The social division of labour expands. Branches of industry 
which were hitherto nearly independent from each other transform themselves into 
a series of intricate and interdependent productions. The economic relations bind 
companies, regions, whole countries. There occurs a capitalist socialisation of labour, a 
capitalist socialisation of production.
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But this socialisation progresses for the benefit of a small number of capitalists whose 
main concern is the increase in their profits (which is the condition for their survival). 
Consequently, the capitalist system is saddled with an inherent, deep contradiction: 
production takes on a social character, whereas the form of appropriation (ownership) 
of the means production is incompatible with the social character of the productive 
process.

The contradiction between the social character of production and the private, 
capitalist, form of appropriation of the results of production is the fundamental 
contradiction of the capitalist mode of production. This contradiction becomes more 
acute as the development of capitalism goes on (growing objective socialisation of labour 
accompanies growing centralisation and concentration of capital).

24. The cycle of capital
The capitalist mode of production is characterised by the developed stage of 

commodity circulation, in other words, exchange for money. Capitalist production is 
closely linked to circulation.
 All capital begins its career in the form of a determinate amount of money. At this 

stage, it is money capital. With this money, the capitalist purchases commodities of a 
specific nature, namely, means of production and labour-power.

This initial act of circulation can be expressed as follows:

		  LP
M—C
		  MP

(M = money; C = commodity; LP = labour-power; MP = means of production.)
This change in the form assumed by capital enables its owner to acquire everything 

required for production. This capital is identical in size with the initial capital but it has 
become productive capital.

This is the first stage in the movement of capital: its conversion from money capital 
into productive capital.
 Then there occurs a productive process involving productive consumption of the 

commodities purchased by the capitalist. This simply means that the workers expend 
their labour, the raw material is transformed, fuel is burned and machines are used up.

Again there occurs a change in the form of capital. The capital is worked into a 
mass of commodities: it takes the form of commodity capital. These are different use-
values than the commodities that were purchased by the capitalist to begin production. 
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Also, the value of the mass of commodities is greater than the initial value of the capital 
because it contains the surplus-value created by the workers.

This stage of the movement of capital can be expressed as follows:

	               LP
C 	                 	 .... P .... C’
	              MP

P represents production, the dots after the symbols indicating that the process of 
circulation has been interrupted and that a process of production is taking place;

C’ represents capital in the form of commodities, a capital whose value has been 
increased by the surplus labour of the workers.

The second stage of the movement of capital thus consists in the transformation of 
productive capital into commodity capital.
 But the movement of capital continues. In exchange for the commodities sold on 

the market, the capitalist receives a certain mass of money.
This phase of circulation can be represented as follows:

C’—M’

The form of capital changes a third time: it once again assumes the form of money 
capital. Once this has occurred, the capitalist is in control of a greater mass of money 
than at the beginning. The purpose of capitalist production, which consists in extracting 
surplus-value, has been fulfilled.

Capital thus has a specific function in each phase of movement:
 The conversion of money capital into an element of productive capital secures the 

joining of the means of production that belong to the capitalist with the labour-power of 
the workers (condition for the existence of the production process).
 The function of productive capital is to create—through the labour of the workers—a 

mass of commodities, a new value and, therefore, surplus-value.
 The function of commodity capital consists, through the sale of commodities, first 

of all in returning to the capitalist, in the form of money, the capital that was invested in 
order to initiate production; second, in realising, in the form of money, the surplus-value 
created in the process of production.

What we call a cycle of capital is the successive transformation of capital from one 
form to the next through the three stages. Of these stages, the first and the last take 
place in the sphere of circulation, that is to say, the transformation of commodities into 
money and the subsequent conversion of money into commodities. This is the condition 
required in order to ensure the constant renewal of the process.
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The general formula for the cycle of capital can be expressed in the following 
manner:

	                  LP
M—C               	 .... P .... C’—M’
	                  MP

Surplus value (the essential goal) is produced only in the second stage; in the first and 
in the third stages surplus-value is not produced and neither is value; the only thing that 
takes place is a succession of the various forms of capital.

Every capital exists simultaneously in these three forms. Part of the capital is money 
with which to purchase labour-power and the means of production. Part of it exists 
as labour-power and the means of production engaged in the process of production. 
A third part is produced commodities being sold on the market. Each of these parts 
successively assumes and later sheds each of these three forms. This is the case not only 
for every individual capital, but also for the totality of capital, in other words, for social 
capital. Therefore, capital cannot exist except in the form of capital in motion and not 
idle capital. (Really “idle” capital quickly ceases to be capital at all.)

25. Capital turnover
The repetition of this cycle is called the turnover of capital. It is to the benefit of the 

capitalist to reduce as much as possible the time consumed in each stage of the cycle.
Time of production: This is the time during which capital is tied up in the sphere of 

production. While it is the period during which surplus labour is appropriated by the 
capitalist, it is also the time during which the capital is not in the relatively safe form of 
money, but tied up in forms such as semi-finished products that can easily lose their 
value. This makes it dangerous to leave capital in this form any longer than absolutely 
necessary. Long-lasting parts of the capital, such as machines and buildings, are even 
more in danger of such devaluation. This is a major reason for capital’s drive to operate 
factories 24 hours a day, 7 days a week.

Time of circulation: This is the time during which capital is in the marketplace rather 
than production. It has two elements: the period during which money capital buys the 
means of production and labour-power it needs in order to become productive capital, 
and the period needed to convert the finished commodity into money. During the time 
it is tied up in circulation, capital can not be enforcing the production of surplus-value, 
so all circulation time is wasted from the standpoint of the capitalist.

Turnover time: This is the total of the time of production and the time of circulation. 
The social average of turnover time is a major determinant of the average rate of 
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profit, so capitalist governments normally put a high priority on transportation and 
communication infrastructure, which can reduce the turnover time.

26. Fixed capital and circulating capital
The different parts of productive capital do not circulate in an identical fashion. The 

different ways in which the parts of productive capital circulate depend on the different 
ways in which each of these parts transmits its value to the product. From this point of 
view, capital is divided into circulating capital and fixed capital.
 Fixed capital is the part of capital which is spent for buildings and equipment, 

machines and tooling. In other words, it is the part of productive capital that operates 
entirely in the productive process and which transfers its value to the product, not all at 
once but bit by bit over a series of production runs.

The constituent elements of fixed capital are in service for years but they undergo a 
dual form of wear:

Material wear is the wear of machines, equipment etc. that makes them unusable 
after a certain time.

Moral wear is a loss of value unrelated to material wear. A machine that has been in 
use for several years can still be useful but, if during that period a new, more productive 
or cheaper machine is launched on the market, the old machine becomes obsolete; it has 
undergone moral wear.

This is another reason that capitalists are under pressure to use up their machines 
and tooling in the shortest possible time. This also implies the tendency to lengthen 
the working day, intensify the work process and introduce continuous operation of the 
factory on a shift basis.
 Circulating capital is the part of capital which is spent for the purchase of labour-

power, raw materials, fuel and the other materials that are not included in fixed capital.
This is the part of productive capital whose value is totally recovered by the capitalist 

from a single production run when the commodities are sold.
The value of the raw materials, fuel etc., is fully transferred to the commodity during 

a single production run, while the expenses for purchasing labour-power are recovered 
with a bonus, surplus-value. During the time that fixed capital rotates a single time, 
circulating capital effects several rotations.

The sale of the commodity provides the capitalist with a sum of money that is 
composed of:

the value of the part of fixed capital that has been transferred to the commodity 
during the production process;

the value of the circulating capital;
the surplus-value.
In order to continue production, the capitalist reinvests the sum of money acquired 

and which corresponds to the circulating capital in order to hire workers, purchase raw 
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materials etc. The capitalist uses the sum that corresponds to the part of the value of 
fixed capital that was transferred to the commodity in order to compensate for the wear 
of the machines, the degradation of the buildings, in other words for amortisation.

Marxists make a distinction between the division into fixed and circulating capital 
and the division into constant and variable capital.

Constant and variable capital are distinguished from one another according to the 
role they play in the exploitation of workers by capitalists.

Fixed and circulating capital are differentiated according to the character of the 
rotation. We can represent this by the following schema:

Division according to 		                                              Division according to
role in the process		                                              character of the
of exploitation	                	                                             rotation

	                                          buildings, utilities,
	                                          tooling and machines

                                                                                                     fixed capital

constant capital		                                              
	                                         raw materials, fuel,
	                                         and auxiliary
	                                         equipment

		                                                                            circulating capital
variable capital	         wages

For the bourgeois, there exists only the division into fixed capital and circulating 
capital, thus avoiding the question of the role of labour-power in the production of 
surplus-value. Furthermore, this division masks the essential distinction between the 
buying of labour-power and the expenditure on raw materials, fuel, etc.

27. Annual rate of surplus-value and methods for the acceleration 
of capital turnover

On the basis of a given amount of variable capital, the speed of the capital rotation 
has an influence on the volume of surplus-value that the capitalist will extort from the 
workers over one year.

For example, take two capitals of $25,000, each in variable capital; The rate of the 
surplus-value is 100%. One of these capitals performs one rotation per year and the 
other performs two rotations. This simply means that the owner of the second capital—
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with the same mass of money—can hire and exploit twice as many workers in one year 
as the owner of the first capital. What will be the result for the two capitalists?

The first will have $25,000 of surplus-value at the end of one year, and the other will 
have $50,000.

The annual rate of surplus-value is the ratio of the surplus-value produced in one year 
to the variable capital engaged. Hence:

25000/25000 = 100% for the first capitalist;

50000/25000 = 200% for the second capitalist.

This shows us that the capitalists can only profit from an acceleration of the capital 
turnover, since this rotation enables them to extract the same amount of surplus-value 
with a smaller capital outlay, or to acquire a larger amount of surplus-value with the 
same amount of capital.

Since the turnover time includes the production time as well as the circulation time, 
it is necessary for the capitalist to reduce both components of the turnover.

The production time is shortened by the development of the productive forces and 
technical progress, the organisation of production (mass production, assembly lines 
etc.) and means to suppress interruptions of production.

Capital turnover is accelerated through an extension of the working day and the 
intensification of the labour process.

For example, if for a 10-hour working day, the period of work is 24 days, with a 12-
hour working day, the period of work will be brought down to 20 days, which represents 
a proportional increase in the rotation of capital.

The same result is obtained with the intensification of labour. The worker will spend 
as much energy in 60 minutes as was previously spent in 72 minutes.

In order to accelerate the turnover, the capitalists also try to reduce the circulation 
time of capital. This reduction is made possible through the development of the means 
of transportation, the postal services, the organisation of trade etc. Working against this 
reduction is the anarchic character of production, inter-capitalist competition and the 
difficulty of finding new outlets for production.

With circulating capital, the surplus-value created during a given period is introduced 
into circulation. Hence, the shorter the turnover time, the faster the transformation into 
money of the surplus-value produced by the workers and the sooner it can be used to 
expand production.

28. Capitalist production costs and profit
We will examine here the reasons that surplus-value takes the form of capitalist 

profit.
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The value of the commodities produced is divided into two elements:
 The value of constant capital (part of the value of the machines, of the buildings, 

the raw material, fuel etc.).
 The value newly added by the workers, which can be subdivided into the part 

which replaces the value of the variable capital and the part which is surplus-value.
The value of a commodity is determined by the quantity of socially necessary labour 

needed for its production. But capitalists do not expend their personal labour in the 
production of commodities; they spend their capital.

The capitalist version of the production cost of a commodity is: the expenditure in 
constant capital plus the variable capital: c + v.

The capitalist measures the cost of a commodity in terms of capital expenditure.
For society, the cost of a commodity is measured in terms of labour expenditure.
Hence the capitalist production cost of a commodity is smaller than its real value or 

real production cost (c + v + s).
The difference between the real cost of production and the capitalist cost of production 

is equal to the surplus-value that is appropriated by the capitalist. To determine the 
profitability of his/her business, the capitalist compares this surplus to the total capital 
invested in production.

The surplus-value compared to the totality of capital is profit. Since the surplus-value 
is compared, not to the variable capital alone, but to the totality of capital, any difference 
between constant capital and variable capital is eliminated; this is where the illusion that 
profit is the fruit of capital finds its root.

In reality, the source of profit is the surplus-value, which is created exclusively 
through the labour of the workers, by the labour-power whose value is embodied in 
variable capital.

29. Rate of profit
The rate of profit is the relation between the mass of the surplus-value and the totality 

of the constant and variable capital engaged in the production of surplus-value. For 
example, a capital of $200,000 and a yearly profit of $40,000. The rate of profit is:

(40,000/200,000) = 20%

Since the total amount of capital engaged is greater than the variable capital, the rate 
of profit is lower than the rate of the surplus-value: s/(c + v) is less than s/v.

Let us suppose that the capital breakdown is $160,000 of constant capital and $40,000 
of variable capital. The rate of surplus-value is:

(40,000/40,000) = 100%

34 Marxist Economic Definitions



The rate of profit is 20% or 1/5 of the rate of surplus-value.
The rate of profit depends first of all on the annual rate of surplus-value. The greater 

the annual rate of surplus-value, the higher the rate of profit, all other things remaining 
equal. All the factors that increase the rate of surplus-value, in other words the degree of 
exploitation of the working class, also increase the rate of profit.

The rate of profit also depends on the organic composition of capital. The lower the 
organic composition of capital—in other words, the higher the percentage share of 
its variable component—the higher the rate of profit, while the rate of surplus-value 
remains the same. Conversely, the higher the organic composition, the lower the rate of 
profit. Finally, the faster the rotation of capital, the higher the annual rate of profit.

30. Formation of the average rate of profit and transformation of 
the value of commodities into a production price

The distribution of capital between the different branches of production is effected 
through competition. We must distinguish two types of competition: competition within 
industrial branches and competition between branches.
 Competition within branches.
This competition exists between the companies of a single industrial branch in the 

form of a struggle for the conquest of the best outlets for commodities. Companies 
are differentiated by their size, level of technological equipment and organisation of 
production.

Hence the individual value (the actual expenditure of labour) of the commodities 
produced by the different companies is not identical, but the competition between them 
leads to a situation in which the prices of commodities are not determined by their 
individual value but by their social value. (See point 6.)

The social value of the commodities depends on the average conditions of production 
in a given branch. Since the price of commodities is determined by their social value, 
the companies which take in additional profit, surplus profit, are those whose industrial 
technique and labour productivity are higher than the social average. In this way, due 
to the competition within industrial branches, there occurs—within the framework 
of normal capitalism—a differentiation in the rates of profit of the different firms in a 
given industrial branch. The competition within a branch will lead to the elimination 
of less profitable companies by more profitable companies, which generally means the 
elimination of small and medium-sized companies by the large ones.

In order to avoid being eliminated, the capitalist who owns a backward company will 
attempt to bring in technical improvements. This process will lead to an increase in the 
organic composition of capital in the whole branch of industry. The surplus profit which 
the capitalists of the more developed industries of the branch would previously earn 
are eliminated and the rate of profit undergoes an overall decline. This will compel the 
capitalists to introduce new technological improvements etc.
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Hence we see how the competition within branches induces a technological 
development and an increase in the productive forces. In the present phase of capitalism, 
this type of competition is consistently declining.
 Competition between branches.
This is competition between the capitalists of the various branches for a more 

profitable investment spread.
The capitals invested in the various branches of production have an uneven organic 

composition. Since the surplus-value is created exclusively through the labour of the 
workers, in the factories of branches where a low organic composition of capital prevails 
the same amount of capital will produce a relatively greater mass of surplus-value. On 
the other hand, in the companies where the organic composition of capital is higher, the 
mass of the surplus-value will be smaller.

Let us take a closer look.
Suppose there exist three industrial branches: shoes, textiles and engineering. $100 

million of capital is invested in each of the three branches, but the organic composition 
of capital is different.

In the first one (shoes) the breakdown is:
$70 million in constant capital, $30 million in variable capital.
In the second one (textiles) the ratio is $80 million in constant capital and $20 million 

in variable capital.
In the third (engineering) the ratio is $90 million constant capital and $10 million 

variable capital.
We can assume that the rate of surplus-value in the three branches is equal to 100%. 

We can deduce from this that the surplus-value created by the shoe industry will be $30 
million, textiles $20 million and the engineering branch $10 million.

The value of the commodities (constant capital + variable capital + surplus-value) in 
the first branch will be $130 million, in the second it will be $120 million and in the third 
it will be $110 million. The total value of the three industries will be $360 million.

If the commodities are sold at their value, the rate of profit will be 30% in the shoe 
industry, 20% in textiles and 10% in engineering.

We can thus observe that the distribution of profits is favourable to the capitalists in 
the shoe industry and detrimental to those in the engineering industry.

The latter will attempt to achieve a better performance for their capital and will 
transfer it to the shoe industry. This transfer of capital from one branch of industry to 
the other will result in an increase in the production of shoes. Competition will become 
more acute; the companies will then be compelled to lower the prices of the commodities 
they produce, and this will in turn induce a drop in prices and the rate of profit.

On the contrary, in the engineering branch, the quantity of machines produced will 
decrease and the ratio of supply and demand will then allow for a surge in prices and an 
increase in the rate of profit.
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The drop in prices in the shoe industry and the increase in prices in the engineering 
branch will continue until the rate of profit between the three branches more or less 
evens out. This means, in effect, until the three branches reach a point where they each 
sell their commodities at a price of $120. The rate of profit for each would then be the 
average, 20%.

Hence we can characterise the average rate of profit as an equivalent profit for capital 
investment in different branches of production.

This example was chosen with a single purpose: to demonstrate that competition 
between the branches of industry tends to even out the rates of profit in the different 
branches of capitalist production and bring about a general average rate.

The tendency toward equalisation is achieved through the transfer of capital—which 
implies a transfer of labour—from one branch to the other. The formation of the average 
rate of profit implies that for the capitalists of certain branches (the shoe industry, in the 
above example) there occurs a loss of part of the surplus-value which is produced by the 
workers. On the other hand, for the capitalists of the other branches (engineering in the 
above example) there is an excess surplus-value.

This means that the first will sell their commodities at prices set below their value 
while the others will sell above their actual value.

The price of the commodities in each branch is formed henceforth by the production 
overhead (which amounts to 100 in the example) and by the average profit (which 
amounts to 20): this is what we call the price of production.

In the different companies of a given branch, the differences in the conditions of 
production lead to different production prices, which are determined by the individual 
production overheads added to the average profit. But the commodities are sold—on the 
average—at an identical production price.

The formation of the average rate of profit and the price of production can be 
illustrated as follows:

	               Constant Variable	 Surplus	 Trading	 Av. profit	Prodn.	 Prodn.
	                capital	 capital	 value	 value	 rate	  price	 price
							                      -value

Shoes 	 70	 30	 30	 130	 20%	 120	 -10
Engineering	 90	 10	 10	 110	 20%	 120	  10

  Here we see that, contrary to what occurs in a simple commodity production 
system, the commodities produced are no longer sold at their value but at prices which 
correspond, more or less, to the price of production.

The condition for this can be described as follows: It is necessary to secure the 
possibility of a free transfer of capital from one branch of industry to the other. In 
capitalist countries with a developed financial system, such transfers are quickly and 
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easily effected. If the rate of profit in an industry is below the social average, capitalists 
tend to use some of their profits to reduce their debt rather than reinvesting in production; 
this reduces the amount of production and hence tends to raise the price of the product. 
Conversely, if the rate of profit is above the average, capitalists in that industry try to 
take advantage of the opportunity by borrowing money to increase production; but the 
increased production then tends to lower the unit price.

31. The tendency of the rate of profit to decline 
The part of capital which alone allows for the production of surplus-value is variable 

capital. This tends to be a dwindling part of the total capital because machines push out 
living labour (investments are aimed at labour-saving devices) and, since a period of 
expansion is followed by an increase in the value of raw materials and of energy (which is 
the same as saying that a pressure is exerted towards an increase in the share of constant 
capital) there is a tendency toward a decline of the rate of profit that is written in the very 
logic of capitalist development (there also exist counter-tendencies that can neutralise or 
at least slow down this tendency for a certain time). The tendency of the rate of profit to 
decline expresses a fundamental contradiction of capitalist production. This is its drive 
to increase surplus-value by removing labour-power, the source of surplus-value, from 
the production process.

The decline in the rate of profit can be verified in the long term. It can also be verified 
in the economic cycles (typically 7 to 10 years), although factors other than the organic 
composition of capital are also involved. The rate of profit rises at first with economic 
recovery partly because of the pressure on wages exerted by unemployment and partly 
because part of capital has been destroyed in the preceding recession. The latter factor 
means that the total social capital is smaller, so that, for any given total of surplus-value, 
the average rate of profit is higher. The profit rate initially rises in the boom, which 
induces price increases. It begins to deteriorate once full employment is achieved with 
the corresponding wage increases, and as reinvested profits raise the average organic 
composition of capital. The profit rate drops on the eve and at the beginning of the 
recession. This process is not uniform between the different branches.

32. Commercial capital—banking capital
The thrust of capitalist development causes commercial capital and usurers’ capital 

to lose their specific and independent place and to link up with industrial capital. They 
existed before industrial capital, but once industrial capital reaches a certain level of 
development, the various forms which it assumes (productive, monetary, commodity) 
become distinct.
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Commercial capital (trading capital) and loan capital (banking capital) become 
separated from the industrial capital that was initially invested in the productive 
process.
 Commercial capital is the capital invested in the sphere of commodity circulation. 

In this sphere, surplus-value is not created. Where then does the profit of the trader 
come from?

If capitalists must also realise the commodities produced, they will be compelled to 
increase their capital outlay (given all the overheads involved), or to reduce production 
if they are unable to increase the capital outlay. Whatever the case, they will experience 
a decrease in profit rate.

By assigning the trader the specific (specialised) task of commodity circulation, the 
capitalist can reduce the duration of circulation as well as the expenditures involved. On 
the other hand, commercial capital, by taking charge of the realisation of the commodities 
of a large number of industrialists, will reduce the part of social capital which is removed 
from the sphere of production and tied up in the sphere of circulation.

In this way, the industrialist will be better off. Indeed, the delegation of this function to 
the trader accelerates the rotation of capital (and in this way increases profits). Therefore, 
the industrialist parts with a portion of the surplus-value, which makes up the profits of 
the commercial capitalist.

Commercial profit is a part of the surplus-value of the industrialist that is handed 
over to the commercial trader in order that the latter may realise the commodities on 
behalf of the industrialist.

Commercial employees are exploited by commercial capitalism. They must guarantee 
the transformation of the commodities into money and of the money into commodities. 
Their function creates neither value nor surplus-value. However, they give the capitalist 
the ability to appropriate a part of the surplus-value of the industrial capitalist that is 
created in the sphere of production. The day of a commercial employee is divided in the 
same manner as the day of a factory worker, into the necessary labour that replaces the 
wage for the capitalist and the surplus labour, for which the employee is not paid.

The process of capitalist circulation requires expenditures, which are called circulation 
costs.
 In the course of capital turnover, the capitalist can have at his or her disposal, for a 

certain time, a sum of money that is “inactive” because it does not produce a profit (e.g. 
the part of gross income that represents amortisation of machinery does not have to be 
expended until the machinery wears out). This is available for lending at interest or may 
be needed at times in order to buy raw materials or machines at a time when the mass of 
commodities has not yet been realised on the market.

Since the capitalists can lend money, they are not compelled to leave the available 
money inactive. The loan enables industrialists to expand production, to increase the 
number of workers and to increase in this way the mass of surplus-value created.
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In order to remunerate borrowed money capital (loan capital), the industrial capitalist 
will pay a given amount of money to the lender capitalist (banker). This sum is called 
interest. Thus, interest is the part of profit that the industrial capitalist hands over to 
the lender capitalist in return for the advance which the latter gave him, and which the 
industrialist uses to appropriate more surplus-value. The source of interest is surplus-
value.

The owner of money capital makes it available to the industrial capitalist for a given 
period of time, and the latter uses it to extort surplus-value. A separation arises between 
the ownership of capital and the utilisation of capital in production.

Credit is the form taken by the movement of loan capital. Through credit, the 
available money capital is transformed into loan capital remunerated by interest. Credit 
takes the form of bank credit and commercial credit (with time these functions merge 
in the same banks).

The banks concentrate into their hands a good part of the available money of society 
(in cash) and make it available to the traders and industrialists in the form of capital.

33. Fictitious capital
For capitalists, capital is any sum of money that normally increases in amount, that 

is, brings in a profit. If $10 million increases to $11 million in a year, it is a matter of 
indifference to the capitalist whether the $10 million was invested in operating a factory 
or in pieces of paper. Nevertheless, there are important differences between the two. 
A factory and its equipment, as the product of human labour, have a real value, which 
is gradually transferred into the commodities that the factory is used to produce. By 
contrast, a piece of paper promising to hand over $11 million at the end of a year is often 
nothing more than a promise. The value of $11 million hasn’t yet been created, and it 
may never be created. When a “capital” is nothing but a legal claim to or expectation of 
future income, it is called fictitious capital.

In modern capitalism, almost any expectation of future income is capable of being 
turned into fictitious capital. A fluctuating but significant portion of stock market prices 
is fictitious capital: the total price of all the shares of a company might be, say, $600 
million even though real capital it possesses is only $400 million. Then $200 million of 
the company’s capital is fictitious capital, based only on capitalists’ expectations that the 
company will return a profit that is considered “normal” for a capital of $600 million. 
From time to time, it becomes evident that profit expectations are exaggerated, and then 
much of the fictitious capital in the stock market is wiped out.

The US and international credit bubble that burst in 2007-08 was based on the 
deliberate creation of fictitious capital. Banks made loans on houses at inflated values 
to people who were incapable of repaying the loans and then on-sold the loans by 
combining them with loans that had a better prospect of being repaid. 
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34. Periodic crises of overproduction
Capitalist economic crises do not result, as in the case of pre-capitalist economic crises, 

from physical scarcity (underproduction of use-values), but from an overproduction of 
exchange-values (commodities).

The increase in the organic composition of capital and downward tendency in the 
average rate of profit, conditioned by this, are general laws of the capitalist mode of 
production. By bringing about a periodic modification in the price of production of 
commodities, they give rise to general crises of overproduction.

The introduction of new machines and new production methods does not change 
the price of production in a gradual manner, but rather through sudden shocks, at more 
or less regular intervals, when society becomes aware after the event that too much social 
labour has been expended in producing some commodities.

In periods of strong growth of capitalist production (booms)—when current output 
is easily sold (when demand seems stronger than supply) and profits are high—there 
will be an “investment boom” that rapidly runs into bottlenecks in both sub-sections of 
Department I—that of machinery and equipment, and that of raw materials. Both these 
sub-sections, by their very nature, are less flexible in adapting rapidly to demand than is 
Department II. Hence additional investment, capital accumulation, will occur on a larger 
and larger scale in Department I. (Marx saw, in the massively bunched introduction of 
fixed capital at intervals of 7-10 years, one of the main reasons for the periodicity of 
the industrial cycle and the determining factor for its average duration. A capitalist in 
a consumer good industry is to introduce a new machine that costs, say $8 million. 
The capitalist recovers this investment over the lifetime of the machine, as the machine 
gradually transfers its value to the finished commodity. If the machine normally lasts 
eight years before wearing out, it will add an average $1 million a year to the total value 
of consumer goods produced. But to add this $1 million a year in the value of consumer 
goods, the machine manufacturer has had to create a product worth $8 million in a 
single year.)

More means of production have to be produced to produce additional means of 
production for producing additional consumer goods. Good profit expectations in 
addition to high profit realisations are the motivation for this boom. Hence, there is 
a shift of investment towards Department I. An uneven development (disproportion) 
between Department I and Department II is set in motion.

At a certain point in the boom, two parallel phenomena occur more or less 
simultaneously:
 The additional means of production come into the production process only after 

a time-lag. But when they enter into that process, they increase the productive capacity 
in both departments by leaps and bounds. But precisely the relatively high rates of profit 
and investment imply that real wages and consumer-goods demand from capitalists 
and their hangers-on could not have developed in the same proportion as this sudden 
increase in productive capacity in both departments (even if output grows less rapidly 
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in Department II than in Department I, and even if real wages also grow). Hence a 
tendency to increasing overproduction (or overcapacity) occurs, in the first place in 
Department II.
 The massive introduction of new means of production in both departments does not 

occur with old techniques, but with new techniques characterised by a basically labour-
saving bias, i.e., by an increased organic composition of capital. This presses down the 
rate of profit, especially since under boom conditions the rate of surplus-value cannot 
increase in the same proportion, or even does not increase at all (due to high or increasing 
employment of labour-power). Hence there is a tendency to over-accumulation—part of 
the newly accumulated capital can no longer be productively invested at the average rate 
of profit, or even invested at all and is pushed towards speculation etc.

Credit expansion, for a time, covers the gap. But it can only postpone the crash, not 
avoid it.

Overproduction now tends to spread from Department II to Department I (This, 
of course, is not an absolute rule. Overproduction could start in certain sub-sections of 
Department I. However, in most cases it has not happened in this way. In the 1974-75 
and 1981-82 crises, overproduction began in the consumer durable goods sub-section of 
Department II—automobiles and the building industry).

Growing overproduction of commodities (overcapacity in a growing number of 
branches of industry), combined with growing over-accumulation, necessarily leads to 
sharp cutbacks in productive investment. The disproportion between the two departments 
now jumps from an “overextension” of Department I into an “underdevelopment” of 
that department. Investment falls more quickly than current output.

As a result of the crash—which can, but does not necessarily, take the initial form of a 
credit and banking crash—there is a general collapse of commodity prices (expressed in 
gold), together with a decline in output and employment. There is a general devalorisation 
of capital, as a result—simultaneously—of this collapse of prices, of a larger number of 
bankruptcies and of a decline in the value of the fixed capital and raw-material stocks of 
surviving firms.

This general collapse of prices is nothing but the adaptation of market prices and 
prices of production (through a lower average rate of profit) to the general lowering in 
the value of the average commodity, which is the unavoidable outcome of the general 
increase of investment, organic composition of capital and average productivity of 
labour during the previous period. Capitalists try to postpone this hour of reckoning as 
long as possible—hence the overextension of credit, speculation, over-trading etc., on 
the eve of the crash. But they cannot postpone it indefinitely. The collapse of the boom 
is the collapse of the attempt to maintain the former level of values, prices and rates of 
profit with an increased quantity of capital.

The economic effects of the crisis, for the system as a whole, are healthy, however 
“unhealthy” they may be for individual capitalists. General devalorisation of capital is 
not accompanied by a proportional reduction in the mass of surplus-value. Or—which 
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is the same thing—an identical mass of surplus-value can now valorise a smaller total 
amount of capital. Hence the decline in the rate of profit can be temporarily stopped and 
even reversed.

Large-scale reconstitution of the reserve army of labour, occurring during the crisis 
and the slump (“recession”) which follows it, makes possible a vigorous increase in the 
rate of surplus-value, not only through speed-ups but even through a cut in real wages, 
which in turn leads to a further rise in the rate of profit. Raw-material prices generally 
fall more than the prices of finished goods, so part of constant capital becomes cheaper. 
The rise in the organic composition of capital is thereby slowed or reversed, again 
pushing up the average rate of profit on industrial capital. A new cycle of stepped-up 
accumulation of capital, stepped-up productive investment, can now start, once stocks 
have become sufficiently depleted and current production sufficiently cut for demand 
again to outstrip supply, especially in Department II.

It follows that the tendency for the average rate of profit to decline is less a direct 
explanation for crises of overproduction strictly speaking, than a revelation of the basic 
mechanism of the industrial cycle as such: in other words, an uncovering of the specifically 
capitalist, i.e., uneven, disharmonious, mode of economic growth, which unavoidably 
leads to successive phases of declining rates of profit, and temporary recovery of the rate 
of profit as a result of the consequences of the previous decline.

The basic causes of periodic crises of overproduction are, at one and the same time, 
the inevitable periodic decline of the average rate of profit, the capitalist anarchy of 
production and the impossibility under capitalism of developing mass consumption in 
correlation with the growth of the productive forces.

35. Changes in the form of overproduction crises
As capitalism became increasingly monopolised in the most developed countries, 

particularly in the latter half of the 20th century, there were changes in the specific 
features, though not the essential content, of overproduction crises.

When an industry is dominated by a single capitalist, or a small handful of 
corporations, these capitalists are much more able than capitalists in a competitive 
industry to forecast their potential sales at different points of the economic cycle. Their 
tendency is to build sufficient industrial plant to produce the maximum that they think 
they can sell during the high point of a boom. During other stages of the cycle, some 
part of this industrial plant is not used. Recessions come to be characterised not only 
by overproduction but also, and even more so, by “over-capacity”—productive capacity 
that is not being used.  For example, the worldwide capacity of car companies in 2008 
was an estimated 90 million vehicles, but only 66 million vehicles were produced.
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36. Imperialism
By the end of the 19th century, the growth of productive forces and monopoly had 

changed the character of capitalism in the leading capitalist countries. Capitalism had 
entered a new stage, imperialism. Lenin in his pamphlet of that name singled out five 
key features that distinguished imperialism from the preceding stage of competitive 
capitalism. These were: 1) the growth of monopoly; 2) finance capital, representing a 
fusion of industrial and bank capital based on monopolies of both; 3) the export of 
capital becoming more important than the export of commodities; 4) the division of the 
world market by capitalist associations; 5) the division of the world by the big powers.

While the imperialists were forced to grant formal independence to most of their 
colonies in the years following World War II, the underdeveloped countries continue to 
be both economically exploited and politically oppressed by imperialism.

Because their industries are less productive than those of the imperialists, the 
underdeveloped countries are in a situation similar to that of the capitalist whose 
production is less efficient than the average in his/her industry. A large part of the surplus-
value produced in the Third World is transferred to the imperialist world through the 
world market. Additional surplus-value is appropriated as the profits of imperialist 
investments, and as interest on loans. This drain of surplus-value to the imperialist 
countries makes it impossible for Third Wold countries to accumulate sufficient capital 
to overcome their relative underdevelopment.
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